= B H
HLICTHEZXTKDS

2%z
| IZHTILFEFEHEKRDEL &£ 9o

O] om 15% 12459 T,
3 -

3
@ (] cm» 60% 1 570cm .
3

EA

2 BH5»L%300HTEWVWI LA, CHNEF->TWE=EE060%IIH
~YFET, HF-oTWEEEITWL 5TTH,

3

<EEZAR—2Z2>

@ EE %ﬁ§7@§ﬂ5£§%M@&;



€500 ij? At : A =

HrICTHEZRDS 2% %

| ICHTIETHHERDHDEIL £ 9,

O] om 15% 12459 T,

%: 45+0.15=300
xx: 200

@ D cm® 60% & 570ecmT ¥,

£: B70+-0.6=950
£z : qSO

2 BH5»L%300HTEWVWI LA, CHNEF->TWE=EE060%IIH
YET, HFoTWEE£IEWVW 5TT D,

#: 300+0.6=500
%z: H00H

<EEHZIR—2Z2>

@ EE BX %% ?@@“%’@3%@%@





